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There are seven questions in all in
this question paper.

All questions are compulsory. '
In beginning of each question, 1t has
been clearly mentioned that how
many parts of it are to be attempted.
Marks allotted to each question are
mentioned against it.

Start from the first question and go
up to the last question. Do not
waste your time on the question you
cannot solve.

Write the solution on pages of both
sides of answer-book. Write the
steps of solutions of all questions
except Question No. 1.

If you need place for rough work, do
it on left page of your answer book

and cross ( x ) the page. Do not write
the solution on that page.
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3 822(BA) 822(BA) 4
viii) Do not rub off the lines constructed

. . . M e x-y=2 T xt Y= 2 1 & &
in a guestion of construction. Do _
write steps of construction in brief, i) x=0,y=2
if asked. i) x=2,y=0
iX) Draw neat and correct figure in iii) x=4,y=2
solution of a question wherever it is iv) x=-2,y=0 1
necessary, otherwise in its absence ’ . ‘
the solution will be treated ¥) 199 B WHAH HE st 1 0 E
incomplete and wrong. - ) 3 i) 5
1. @t @S Ff iii) 8 iv) 9 1
mmﬁwﬁmﬁimﬁﬁﬁ% ) ﬁmemmﬁizo-Sﬂ
TifeaeRl 20 €, I ST Sgeid
Bl 34 .
ﬁ?ﬁﬁé—ﬁﬂ@'ﬂ?&gﬂﬁﬁm - ) 215 i) 17
| aﬁﬁg%ﬂ@@f@u i) 19 i) 205 ;
) _f # aABC % FWR  BC
® wﬁw 5x% <3x+2=0 & ol
)_m < T " v po d T ¥l AR
| | PO: BC=1:3 % AP @ PB %1 U
3
y 2 i) -< B
2
iii) % v -2 1
g I 3cotA=4,?1"[ sec A &1 T & p o)
3 . O
i) 2 i) 2
B C
3 ) .
iii) % iv) 2 1 i) 1:4 i) 1:3
mj 1:2 wv) 2:3 1
ver
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822(BA)
Do all the parts :

Four alternatives of the answer of each part
are given, out of which only one is correct.

Pick out the correct alternative and write it
In your answer-book :

a)  The sum of roots of the equation
5x* -3x+2=0 will be

. 9 . 3
1) T i1) "3
2 §
) — g{% 7 1
S5 NS 5
by If 3com=%\&wn the value of sec A
will be@$
) 3 0 5
1 - 1 —_
4 % 4
L 2 .3
i) — v) — 1
3 2
¢} The solution of equations
x-y=2 and x + y = 2 will be
ij x=0,y=2
i) x=2,y=0
i) x=4,y=2
iv) x=-2,y=0 1

d) The mean of natural numbers from
1 to 9 will be
) 3 i) 5
iii) 8 iv) 9 . 1

63562 [ 1) | Turn over
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If the mean and median of a
frequency distribution are 205 and
20 respectively, its mode will be

i) 21'5 i) 17

iii) 19 iv) 205 1
) In the given figure, PQ 18 drawn

parallel to base BC of a triangle ABC.

If PQ : BC =1 : 3, the ratio of AP and

PB will be

A
P Q
B C
) 1:4 i) 1:3
mij) 1:2 iv) 2:3 1
2. |t @ Hfw:

F) U 27,23, x- 4, x+4, 15, 3 3R 7 =1

W 15 ®, @ x F1 A W i

1

W) T AR H S 20 W ¥ i w g
T T T T 20055 ¥

T I B0 T Fiforg |
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y 822(BA) 8
=fwat 65 T §1 \ .
m 10 ® WA A 4565 @) fyefafad groft & mitren 7 i :
' 1
I RI &1 o7 [ L | N g— 0-10 1020 | 20-30
2 -

u) ok fgom wdiewor 2x® -Sx+k=0 F T I 7 12 18
TR & a ke 1 A T FIC 1 .

2. Do all the parts : _ ) 30-40 40-50 50-69

a) If 15 is the mean of 27, 23, x- 4, x+ 4, ' 15 10 3
15, 3 and 7, find the value of x. 1 ) | 2

b) The height of a tower is-20 m and T T x? -7x+12=0 % el & FobAl
20/3 m is the l@h of its shadow on 1 TR T HTT _. 2
the ground, i the angle of elevation H) q", ﬁ@n@ﬁ o q’rrrq;ﬁ 85 %' qﬁ- aé 'ﬂ'@n‘
of the sun$Q 1 S .

c¢) The meé% of weights of 10 men is & & Elﬁ-‘l’#@_s ﬂﬁ]ﬂ?_ %, | &
4565 kg. Find- the sum of their T Fifw , )
weights. : 1 3. Do all the parts :

d) If the quadratic equation a) Two cubes each of volume 64 em3are
0x?-5x+k=0 has equal roots, then jeined end to end to form a cuboid.
find the value of k. 1 Find the total surface area of the

[ \ resulting cuboid. ' 2
3. Wl GUE Hi : b) Find the median from the following
) 3 e R @ w1 T 64 T E l_‘table: )
Class-interval 0-10 10-20 20-3
. o et AT S99 -30
% W:{ ﬁ Q_“F I }fftqucm:y 7 12 ]8
ST | TR I U S T e T —
' 3”-40 4[)-50 50_60
_ 2
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9 822(BA)
¢) Find the sum of reciprocals of the roots
of equation x%-7x+12=0. 2
d) The sum of two numbers is 85. If the
larger number is 5 more than four
times of the smaller number, find the
numbers. ' : 2
ot @g Fife

%) mwr—rmzﬁmmwwm

2x+ky=1 3R :%\:&%&3_7 T Al
T | 2

@) W?@s%%mﬁﬁmssﬂrham
S 12 T3 vF F e S

T A BT 9
T I tan A = cot B @ fog #Rm 6
A+ B=90°,

2
) ﬁﬂﬂ%ﬁ%maﬁﬁq}aﬁm@

Qﬂﬂm%m%ﬁ:(z,-sﬁm

822(BA) 10

b) The radius of base of a cone is 3-5 cm
and height 12 cm. Find the slant

height and volume of the cone. 2
¢) If tan A = cot B, then prove that
A+ B=90° 2

d) Find the coordinates of A, where
AB is the diameter of a circle whose
centre is ( 2, - 3 ) and the coordinates

of Bare( 1, 4). 2
wvft @ve Fife
%) fog T 6 (2+43) & s den
gl 4
@ o cosﬁ=%, o (sinBcos+tan?0)
T T Fi | 4
m uﬁﬁfg(a,ono b]ﬁ'en(l -1)®w
ﬁfﬁfﬂzaﬁﬁq___._l 4

u) ﬁqﬁr‘@awwﬂh@fwnﬁmﬁ
aﬂﬁ;qnﬁﬁarﬁ:ﬁ%wmﬁ' Eal:
25¢%:

s g )%I , eliric 0-10 10-20
Do all the parts : Ferenierrt =t e 6 f
a)  Find the value of k for which the |
equations 2x+ky=
3q tons 2 y=1 and 20-30 30-40 40-50
x-Sy= aveé unique solution. 2 © 0 >
6 . 4
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S. Do all the parts :

822(BA)

a) Prove that (2+J§] is an irrational

number,

4
by If cosO:E, find the value of

{sinBcosBHanQB)
c) Ifpoints(a, 0)(0,b)and(1,-1)are

4

4

1 1
collinear, then prove that —-—=1.

| d) Find the value Sf\\?from the following

frequency ta

BIgif 25.is_the mean of

marks obtained by the students.

Marks obtainéd " 0-10 10-20
Number of students 6 f
%.20-30 30-40 40-50

6

10

6. |t Gug T :

v H) Th THEgAE SoHER 3 MR IR
frat T o e R ¥ SeEeR am

R 14 ¥ R F T 30 Wh ¥ S

w1 T U8 §IT i (n=&72_mnq
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@) & °, AABC -~ AAPQ %'
' BC=8@ﬁ!pQ=4ﬂﬁT,BA=6°5@":ﬁ.
Ap:g.gﬁﬁCAmAQaﬁmﬂﬁ

T |

iz

M @ s W T e b e A 9 ¥
FEm % I B W oo § Tw qe
& i 'gen A 27 AU @ S & dE

)
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13 822(BA)

Do all the parts :

a) A solid is in the form of a cylinder with
hemispherical at both ends. The total
length of the solid is 30 cm and the
diameter of the cylinder is 14 cm.
Find the total surface of the solid.

22
[US€ﬂ=?} 4

b) 1 Co .
) In the ﬁgure,6®&8 AAPQ

If BC = 8 xm, PO-= 4 cm,
BA = 65 cra\ AP = 2:8 cm then find
the leng %CA and AQ.

@ P

TR

R

Q

C

4 N

c) The sum of two digits of a two digit
number is 9. The number obtained by
interchanging the digits exceeds the
given number by 27. Find the number.

4

63562 o1 [ Turn over
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d) A bird is sitting on & 80 m high tree.

The angle of clevation of the bird is 45°
from a point on the ground. The bird
is flying horizontally such that its
height from the ground remains the
same. After 2 seconds the angle of
elevation of the bird from the same
point is 30°. Find the speed of the
flying bird. ( Take ¥3=1-732) 4

7. |yt @ve T

F) T WS 63 fml ® T fedwt FiEa
aiga =T ¥ 9w € R R 72 T
@ { TR 9 ¥ 6 el aver sfus
Aed o ¥ 7@ Wt &1 IR T [ aE
3°ve § 7 &t ¢ &, A IRE e 9

w1 o ? 6
RgET

e aefe 9 & i

S .4 _

x-1+y—2—3

6 __3

x-1 g3~ 6
63562 g

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

15 822(BA)

@) T Frge @itay frEe o 5 @, 6

U 7 At ¥ 3R oW U a1t Hngw it
A Fra M veet o1 B H

e /2 T o 6
Srean

% wafgag B ABC B T AB = T

AC T g B@{@cw BD & ¥

maﬁﬁm%% L2AC.DC. 6

7. Do allthe part%Q\Q

a)

63562

A trainiiravelled 63 km at a uniform
speed and. then travelled -72 km
distanice at the speed of 6 km/hr more
than its initial speed. 1f the total

journey is travelled in 3 hours, find its

initial speed. . 6
OR
Solve the following equations :
5 4 _
PR RET R
6 3 _
x-1 y-2 6
L 1) [ Turn over

1)

16
Draw a triangle whose sides are 5 oy
6 em and 7 em respectively and thep

construct another triangle whose sides
3 cnond;
are = of the corresponding sides of the

first triangle. 6
OR

In an isosceles triangle ABC,
AB = AC and BD is perpendicular on

AC from the point B.

Prove that BC? = 2AC_. DC. 6

822(BA) - 3,20,000
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